Solvesborgs BK

Ruterspelet hcp 2020-01-07

Partavling, 10 bord, 20 par. Antal brickor: 18. Medel: 162.0.

Plac  Par Poéng % Namn MID Klubb
1 2 218.2 67.36  Monica Edebrand - Lars Edebrand 30867 30869  Solvesborgs BK
2 8 205.3 63.38  Kristine Gustafsson - Ulla Bremberg 47026 88716  Solvesborgs BK
3 5 205.3 63.38  Einar Nilsson - Sture Svensson 40811 93338  Sdlvesborgs BK
4 18 196.6 60.69  Christer Mjomark - Birgitta Mjomark 62536 62535  Solvesborgs BK
5 20 181.5 56.01 Susanne Knese - Roland Nilsson 54793 65347  Solvesborgs BK
6 15 176.4 54.44  Barbro Ahlner - Ingvar Cullin 43350 42600  Sdlvesborgs BK
7 16 169.3 52.27  Agneta Lindstein Andersson - Jan Andersson 46502 46503  Solvesborgs BK
8 6 159.0 49.06  Ingrid Vestergaard - Gunvor Gabrielsson 30862 30865  Solvesborgs BK
9 19 158.9 49.05  Gunilla Axelsson - Lars Axelsson _ 54675 54674  Solvesborgs BK
10 17 158.0 48.76  Kerstin Skog Blom - Maud Aberg Ohlén 43351 42602  Solvesborgs BK
11 4 154.7 47.74  Leif Gyllén - Eje Persson 62402 56563  Solvesborgs BK
12 7 150.6 46.50  Anneli Davidsson - Yvonne Gunnarsson 61311 59895  Sodlvesborgs BK
13 9 148.0 45.67  Christer Mattsson - Maj-Britt Mattsson 39987 39988  Solvesborgs BK
14 14 146.9 45.35  Britt-Marie Svensson - Bertil Svensson 30859 30858  Solvesborgs BK
15 10 145.5 44.92  Ann-Marie Janbom - Monica Gertell 57790 59584  Solvesborgs BK
16 1 140.9 43.50  Elsa Persson - Ingrid Rosengren 48014 48019  Solvesborgs BK
17 11 138.3 42.67  Ture Svensson - Arne Jensen 42392 42393  Sdlvesborgs BK
18 12 132.4 40.88  Ulla Alexson - Inger Andersson 49174 54677  Solvesborgs BK
19 13 130.4 40.24  Kurt Petersson - Laila Breitenfellner 45076 31879  Solvesborgs BK
20 3 123.6 38.15 Inger Osterstrom - Géran Bremberg 49231 30861  Solvesborgs BK
1 «E103 Basta kontrakt 2 « ED54 Basta kontrakt 3 & DKn97 Basta kontrakt
Nord vKn76 4v O =-420 Ost v32 54 S =650 Syd v EK109 3v S =140
Ingen ¢ 753 NS +84 ov + D43
#KD102 & ¢ v & NT #KKn1097 & ¢ v & NT »E7 & ¢ v & NT
4 Kn7 D86 N4 4364 4Kn932 46 N 115 8 1110 41085 & K432 N79 978
vD1094 vEK32 S 44364 vE10 v 98764 S 115 8 1110 vDKn2  v654 S799738
¢ EKn98 ¢ KD 09 9 107 9 49753 ¢EKn1062 O 2 7 5 2 2 +E6 ¢ KKn72 O5 4 4 44
#Kn93 #E874 vV 9 9 107 9 +D65 *42 V27522 #K10953 %62 V54455
& K9542 4 K1087 +E6
v 85 v KDKn5 v 873
+10642 + KD 4 10985
#65 #E83 #DKn84
Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
5 9 4v0-2 6 100 180 00| 5 9 3NS+2 42 660 170 10| 8 14 INN+2 ¢7 150 16.0 2.0
2 14 3NV-1 &T 50 11.0 70|16 3 3NS+2 42 660 170 10( 9 1 2NS+1 3 150 16.0 2.0
7 13 4v0O-1 LY 50 11.0 7.0| 2 14 44 N= 4 620 12.0 6.0|18 16 INN+2 ¢2 150 16.0 2.0
12 20 3NO-1 a2 50 11.0 70| 7 13 44 N= ¢A 620 120 6.0| 7 12 2NN= 6 120 120 6.0
16 3 4v0O-1 49 50 11.0 70| 8 15 44 N= ¢A 620 120 6.0| 6 10 INN= 2 90 8.0 10.0
18 4 INO-1 45 50 11.0 7.0|12 20 3NS= 42 600 8.0 10.0(13 20 INS= 2 90 8.0 10.0
19 17 4v O -1 *6 50 11.0 70| 1 10 34 S+1 vA 170 6.0 12.0|17 4 INN= 2 90 8.0 10.0
1 10 4v 0= a2 -420 3.0 150| 6 11 44 S-1 vA -100 3.0 150(19 5 3NS-1 T -50 40 140
8 15 4v O = a2 -420 3.0 150(18 4 44 N-1 ¢ A -100 3.0 150 2 11 34 N-2 *2 -100 1.0 17.0
6 11 3NO+1 42 -430 0.0 18.0|19 17 44 N-2 ¢ A -200 0.0 180| 3 15 3NN-2 ¢7 -100 1.0 17.0
4 497 Bésta kontrakt 5 492 Bésta kontrakt 6 « D6 Bésta kontrakt
Vast v 9764 5v V =-650 Nord vKD10 24 O =-110 Ost vED7 3NT S =400
Alla + Kn653 NS ¢ ED954 ov 49876
#KD10 & ¢ v & NT #1032 & ¢ v & NT #EKD4 & ¢ v & NT
4 Kn3 4 ED2 N53274 4 Kn853 4 EK104 N6 8657 487532 #K109 N 108 6 6 9
vD1052 vEKKn3 S53274 vKn86 v7432 S 68657 v 10943 v K862 S 108 5 5 9
¢ EK7 + D1098 O 7 10115 9 +K ¢ Kn108 075785 ¢EKD #5432 035774
#Kn964 #52 V 7 10115 9 #K9876 #EKn V75785 «10 #93 V357174
4 K108654 4 D76 & EKn4
v8 vE95 v Kn5
42 ¢ 7632 + Kn10
#E873 «D54 #Kn87652
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 10 24 S-1 ¢ A -100 180 0.0| 8 13 34 O-2 «4 100 170 10| 9 6 3NN+1 v2 430 18.0 0.0
2 11 3y O+1 ¢2 -170 150 3.0|18 5 44 0-2 vA 100 170 10| 3 12 3NN= v6 400 16.0 2.0
17 4 1v O+3 #A -170 150 3.0| 1 19 2¢ N= v7 90 140 40| 8 13 INN+3 v2 180 12.0 6.0
7 12 3NO= a4 -600 110 7.0| 3 12 34 V-1 ¢ A 50 11.0 70|17 15 INN+3 v6 180 12.0 6.0
18 16 3NO= 8 -600 110 70| 9 6 3aV-1 ¢4 50 11.0 70|18 5 INN+3 v2 180 12.0 6.0
3 15 4v 0= *A -620 6.0 120| 4 16 24 O= vA -110 40 140( 1 19 3«N+1 v9 130 5.0 13.0
8 14 4v O= a4 -620 6.0 120| 7 11 24 O= v5 -110 40 140| 4 16 1#N+3 49 130 5.0 13.0
9 1 4v0= 48 -620 6.0 12.0(10 2 24 O= +3 -110 40 140( 7 11 24 S+2 ¢A 130 5.0 13.0
19 5 4v O+1 &A -650 20 16.0(17 15 24 O= v5 -110 40 140|20 14 34S+1 &5 130 5.0 13.0
13 20 3NV +2 aT -660 0.0 18020 14 2v O= 2 -110 40 14010 2 INN+1 +v2 120 0.0 18.0
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7 4E3 Basta kontrakt 8 4 KD10975 Basta kontrakt 9 496 Basta kontrakt
Syd v K76 5NT S =660 Vast vE6 3V =-110 Nord v E9864 5¢ N D -3-500
Alla +9 Ingen +75 ov + Kn1064
#DKn86542 & ¢ v & NT *K43 & ¢ v & NT «D7 & ¢ v & NT
4764 «D1092 N 117 101010 46432 #EKn N45475 #8743 # EKDKn N38824
v2 v DKn843 S 118 101011 vD1042 vKKn7 S45475 v D53 v72 S38824
¢ KD106543 ¢ 2 015331 ¢E ¢ K10963 097867 +K ¢ D52 O 105 5 109
*E7 #1093 vis5221 #E965 #D108 V97867 #E10432 #K985 V 105 5 109
& KKn85 48 41052
vE1095 v 9853 v KKn10
¢ EKn87 + DKn842 + E9873
*K *Kn72 *Kn6
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 9 3NN+3 42 690 150 30| 2 9 24 N= ¢+3 110 170 10| 5 14 24 O+2 +A -170  17.0 1.0
8 12 3NN+3 vQ 690 150 30| 5 17 24 N= «8 110 170 10| 6 18 34 O+1 vT -170  17.0 1.0
16 14 3NS+3 47 690 150 30| 4 13 3v V-2 «9 100 140 40| 1 17 INO+3 3 -180 140 4.0
20 15 3NS+3 47 690 150 30| 8 12 24 N-1 +9 -50 9.0 90|15 13 34 O+2 ¢3 -200 120 6.0
1 18 3NN+2 49 660 8.0 100|110 7 24 N-1 v7 -50 9.0 90| 2 19 44 O= *6 -620 7.0 11.0
4 13 3NS+2 ¢+Q 660 8.0 10.0|16 14 24 N-1 v7 -50 9.0 90| 3 10 44 O= o7 -620 7.0 11.0
5 17 3NS+2 ¢+Q 660 8.0 100(19 6 24 N-1 8 -50 90 90|12 4 44 0= *J -620 7.0 11.0
11 3 2v S= ¢K 110 40 140(20 15 24 N-2 +K -100 40 140(20 16 44 O= ¢ A -620 7.0 11.0
10 7 3NS-1 ¢ Q -100 10 17011 3 2v V= 49 -110 20 160|111 8 3NO+1 +3 -630 2.0 16.0
19 6 4v S-1 +K -100 10 170| 1 18 3v V= oK -140 0.0 180| 9 7 44 0+2 ¢3 -680 0.0 18.0
10 » EK83 Bésta kontrakt 11 4 Kn84 Bésta kontrakt 12 K98 Bésta kontrakt
Ost v KKn5 34 O =-140 Syd v 8652 4e V =-420 Vast v KDKn5 34 VD-1100
Alla + 852 Ingen ¢+ KD754 NS + E1075
+D107 & ¢ v o NT #Kn & ¢ v o NT *73 & ¢ v & NT
475 4DKn10962 N 5 5 7 4 6 4 K1032 & EDG65 N58323 4 D1065 «Kn432 N589 47
vED83 v4 S55846 vE3 vKD1074 S58323 vE962 v8 S589 47
¢ EKKn ¢ 1094 087597 ¢Knl0 +62 O 7 5 10108 462 ¢ Kng4 083486
#K652 #Kn98 V87597 #E9532 #84 V 7 5 10108 *K62 #ED985 V83 48€6
a4 497 «E7
v 109762 v Kn9 v 10743
+ D763 + E983 ¢ KD93
*E43 +KD1076 +Kn104
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 19 3NV-2 &7 200 170 10| 4 11 34 V+2 &) -200 16.0 20| 4 11 4v N= «A 620 170 1.0
15 13 2N V-2 «A 200 170 10| 7 19 3«4 V+2 &) 200 16.0 20| 6 15 4v S= 5 620 170 1.0
5 14 3NV-1 v5 100 120 6.0|20 17 34 O+2 9 200 16.0 2.0|20 17 2¢ N+2 &A 130 140 4.0
9 7 2NV-1 v5 100 120 6.0|10 8 24 O+4 v9 -230 120 6.0| 1 16 2¢ N+1 +8 110 110 7.0
20 16 3NV-1 v5 100 120 6.0| 1 16 44 V= +K -420 8.0 10.0| 2 18 2¢ N+1 #A 110 11.0 7.0
1 17 24 V+1 v5 -140 6.0 120| 3 9 4e V= *J -420 8.0 100(13 5 440-2 v3 100 8.0 10.0
3 10 24 V+1  ¥5 -140 6.0 12.0| 6 15 4a4 V= +K -420 8.0 100 3 9 2¢ N= v8 90 6.0 12.0
11 8 24 V+l v5 -140 6.0 120| 2 18 44 V+1 &) -450 20 16.0| 7 19 2¢vS-1 +6 -100 3.0 15.0
6 18 24 V+2  v5 -170 20 160|113 5 44 O+1 v9 -450 20 16.0|14 12 4vS-1 *2 -100 3.0 15.0
12 4 2vS-2 a5 -200 0.0 18.0|14 12 44 O+1 v9 -450 20 16010 8 4vy N-2 3 -200 0.0 18.0
13 & K8542 Basta kontrakt 14 4« D103 Basta kontrakt 15 48 Basta kontrakt
Nord v- 5v V D -2 500 Ost vD3 3vy OD-1100 Syd v D83 24 V =-110
Alla ¢E2 Ingen 41098 NS + D1054
»EK9854 & ¢ v & NT #EK754 & ¢ v & NT #E10732 & ¢ v & NT
«ED3 » Kn9 N 106 4 106 » EK2 « 8754 N9 8565 «EKn104 49732 N7 8556
vKD963 v EKn542 S 106 4 106 v EK10962 vKn85 S 98565 v10965 vEKn4 S 78556
410643 ¢ Kn98 036837 ¢ 76 ¢ KKn42 035864 ¢+ E76 +82 054786
*6 «D73 V37937 #Kn3 £102 V34864 *K8 +D654 V54786
+ 1076 & Kn96 » KD65
v 1087 v74 vK72
+ KD75 ¢ ED53 ¢ KKn93
#Kn102 +D986 #Kn9
Par Kontr Ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
8 9 44 N+1 vA 650 180 00| 8 9 5vV-3 «A 150 180 00|12 10 2¢ S+1 8 110 16.0 2.0
5 12 44 N= vA 620 16.0 20| 2 17 4y V-2 «A 100 16.0 20|15 7 2¢ S+1 44 110 16.0 2.0
14 6 4v V-2 ¢A 200 140 40|15 1 3v V-1 *A 50 140 40|16 2 2¢ S+1 #8 110 16.0 20
2 17 24 N+1 vA 110 120 6.0 4 10 3#N-1 v5 50 120 60(14 1 340-2 «9 100 120 6.0
13 11 3v V-1 ¢A 100 9.0 90|13 11 44 N-2 v5 -100 100 80| 5 11 2¢ S= a4 90 10.0 8.0
18 20 3v O-1 2 100 9.0 90|18 20 2v V= *A -110 8.0 10.0| 6 13 34 V- +Q 50 8.0 10.0
7 16 44 N-1 vA -100 50 13.0| 3 19 3v V= *A -140 3.0 150| 3 18 3¢ S-1 a4 -100 4.0 140
15 1 34 N-1 vA -100 50 13.0| 5 12 3v V= *A -140 3.0 150| 8 17 34 S-1 *8 -100 40 140
4 10 3v V= ¢ A -140 20 16.0| 7 16 1y V+2  #A -140 3.0 15020 19 3¢ S- *8 -100 4.0 140
3 19 5&N-2 vA -200 0.0 180|14 6 3v V= *A -140 3.0 150 4 9 24 0= *9 -110 0.0 18.0
16 « EKKNn1086 Bésta kontrakt 17 & EKn6 Bésta kontrakt 18 4 864 Bésta kontrakt
Vast v6 5# VD -1200 Nord vD1093 34 O =-140 Ost vD 4v O =-420
ov + K932 Ingen + D1085 NS + DKn63
*K7 & ¢ v & NT #98 & ¢ v & NT +D9864 & ¢ v o NT
4D975 &- N3 7 7 104 2109842 «D3 N25735 432 « KDKn9 N7 7 365
vD984 w72 S36794 v 64 vE82 S$25735 vE109743 vKKn2 S77 365
¢ EDG5 ¢ 1074 O 106 5 3 5 ¢E9 ¢ KKn43 O 108 6 9 8 ¢52 ¢ EK74 O5 6 106 7
3 #EDKN10985/ 106 5 3 8 #K752  #ED104 vV 108 6 9 8 #753 #Kn10 V56 106 7
4432 « K75 «E1075
v EKKn1053 v KKn75 v 865
+ Kn8 * 762 + 1098
*64 #Kn63 *EK2
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 11 5#aDO-2 vA 500 180 0.0| 1 13 44 0-2 v5 100 170 10|20 11 3NO-2 «A 100 18.0 0.0
8 17 44 N= «A 420 140 40|17 3 44 0-2 v5 100 170 10| 5 10 24 O-1 *A 50 140 4.0
14 1 44 N= «A 420 140 40| 5 10 2NO-1 v7 50 120 6.0] 6 12 1+ O-1 *A 50 140 4.0
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420 140 40| 9 18 24 O-1 v7 50 120 6.0(17 3 1¢ O-1 SA 50
140 100 80|20 11 2NO-1 v5 50 120 6.0(15 2 1¢ O= A -70
-50 70 110| 6 12 24 O= v7 -110 70 11.0( 9 18 14 O= A -80
-50 70 11.0(16 8 24 O= v5 -110 7.0 11.0( 7 14 1¢ O+1 &A -90
-100 20 160 4 19 24 O+1 +6 -140 20 16.0( 4 19 INO+3 v5 -180
-100 20 16.0( 7 14 24 O+1 v5 -140 20 16.0(16 8 2v O+3 &A -200
-100 20 16.0(15 2 24 O+1 ¥5 -140 20 16.0( 1 13 4v 0= SA -420
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